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L 0se jede Aufgabe.
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5  6.600

9  6.265

13 1.295
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ﬂh Multiplikation - vertikal Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1 2 3 4
) 9.426 ) 2.429 ) 6.626 ) 2.889 . 37.704
. 4 ° 6 ° 6 ° 6
37.704 14.574 39.756 17.334 , 14574
3 39.756
. 17.334
5 6 7 8
) 6.600 ) 7.141 ) 1.323 ) 2.642 ¢ 33.000
. 5 . 2 . 9 . 8
33.000 14.282 11.907 21.136 6 14.282
. 11.907
s  21.136
9 10 11 12
) 6.265 ) 7.709 ) 3.759 ) 2.006 . 56.385
. 9 . 6 . 7 . 4
56.385 46.254 26.313 8.024 0. 46.254
1 26.313
2 8.024
13 14 15 16
) 1.295 ) 8.157 ) 2.345 ) 2.223 w7770
. 6 . 6 . 9 . 2
7.770 48.942 21.105 4.446 1 48.942
s 21.105
6 A4.446
17 18 19 20
)  3.807 ) 7.693 ) 7.956 ) 5.438 o 26.649
[ ] 7 [ ] 2 [ ] 8 [ ] 8
26.649 15.386 63.648 43.504 s 15.386
10 63.648
0 43.504
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